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5. A 9.07 x 10 7 solution of hydrobromic acid is made.
What is the concentration of hydronium?
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What is the hydrox1de con entration?
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What is the pH? b
= \pO% (071 x\o"2) = 8.0

‘What is the pOH?
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6. A 4.65x 10 ' M solution of aluminum hydrc?x1de is made.
What is the concentration of hydronium?
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‘What is the hydroxide concentration?
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What is the pH?
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What is the pOH?
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7. A 0.072 M solution of hydrochloric acid is made.

What is the concentration of hydronium?
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What is the hydroxide concentration?
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What is the pH?
—\og (.o12) = uk
What is the pOH?
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8. If the pH of a hydrochloric solution is 4.5,
‘What is the concentration of hydronium?

(O*3-  owddog (FH45)= 3L X107 M

What is the hydroxide concentration? _\0 A /\
fow - onwog (-@8) = 3.2#10°0

What is the molarity of the solution?
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What is the pOH?

I4-u.6 = 95




